Parallelograms (Part 1) September 10, 2018

A parallelogram is a quadrilateral in which both
pairs of opposite sides are parallel

Given: ABCD is a parallelogram A B
Prove: AB=DC and BC = AD

D > o

Statements Reasons
[. ABCD is a /l-ogtam| 1. Given

2. BB/C and |9 Def.of (f-09

Aol Pc |
3 D B0 3. Ay 2.5 fom o lne.
L pO 6D de pafbxe oo =

= LS thweo.
ZEDC—'LG?,D 6 A\Y- N
' /ao® SLCHD
b. ANBAD TODCH
1 A ST, 8B

. (/-09com, fhe
’ Igp;ﬂh S‘z av‘lc ';'

6. ASA
7. CPcTC




Parallelograms (Part 1) September 10, 2018

A

c

Given: ABCD is a parallelogram

Prove: /A~ /C
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Given: ABCD is a parallelogram  * > B
Prove: ZA is supp to ZD and /l( f/
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Given: ABCD is a parallelogram 4 B

Prove: AF =CF and DE =BE
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Given: AB=DC and AB||DC ’
Prove: ABCD is a parallelogram
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Given the parallelogram, find x and y
3y-7 3x+18=3X
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Given: MNOP is a parallelogram
mZM =9x+37

m/P =3x+23
Find x Ax+37 + 31235y,
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The diagonals of £—7PQRS intersect at point T.

Given: QT =7x, T5:2x+§, RT =2y, TP=y+3
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